
Первый признак равенства треугольников 

Дано: ∟АВН  = ∟СВН ,   АВ  =  СВ (см. рисунок). 

Доказать: ∟АНВ  = 900   

Доказательство.  

1) ∆ АВН = _______________ по двум ________________________________ 

(ВН  -  общая сторона,  АВ =  _________ и  угол АВН _______________ 

(по условию). 

2) Так как ∆ АВН  =  _____________, то  ∟АНВ  =  ∟ _________ .  Но углы 

АНВ  и  ____________  смежные,  поэтому  ∟АНВ + ∟СНВ  = __________ , 

т.е.   2∟АНВ  =  ___________________ , следовательно ∟АНВ = ________ 
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